SAP ABAP table VV 5CBE ABG V1 {Generated Table for View}

VV 5CBE_ABG V1-MANDT = T000-MANDT TO0O

-7 0.. MANDT [CLNT (3)]

-7 T500L

7 VV 5CBE_ABG V1-MOLGA = T500L-MOLGA ;- |MOLGA [CHAR (2)]

-7 T5CA2

MOLGA [CHAR (2)]
—---0.N

-7 MANDT [CLNT (3)]
-7 VV 5CBE ABG VI1-VALTY = T5CA2-VALTY
1 - APPLI [CHAR (2)]

-7 VALTY [CHAR (4)]

1" —— T5CBS

- - MANDT [CLNT (3)]

1~ VV_5CBE_ABG_V1-OUTTY = T5CBK-OUTTY 0..N [MOLGA [CHAR (2)]

T~ APPLI [CHAR (2)]

T~ REPTY [CHAR (2)]

N S~ T5CBK

“. VV 5CBE_ABG V1-APPLI = T5CBY-APPLI \6\1\7 MANDT [CLNT (3)]

> MOLGA [CHAR (2)]

N APPL| [CHAR (2)]

RN OUTTY [CHAR (2)]

T -l T5CBY

0..N | MOLGA [CHAR (2)]

APPLI [CHAR (2)]




